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(a) A=[[("=y)-C)]dv+[,[@r)-(" -] dv

4 3
-1

2

5 8 37

=— 4 —=—

12 3 12
0

4 3

1 2 1
+ dog{x)| = 5t log(2).

1 -2 2
(b ) A = / (r — 0)dx + / Lé — Mdr = %
J0 J1 L

Question 7

2 2
12—lx2 - lx2+3
2 2

—(135x-5¢") " =5407

(a) V=f_337r dx=7rf_33(135—15x2)dx

(b) V=f017r(sec2x—tan2x)dx=Jrf01dx=frx|; =7

Question 8

(a) f@)=x"+1 = f0)=2x"

2
R / 3 sl [9 .9
L—fo 1+(Ex ) dx—f0 1+Zde (Let u—1+Zx)

=f143/16\/;gdu=§u3/2‘43/16= 8 {(ﬁ)m_l}

27 27116



123 ! —l_f
(b) f()=lr-=x = [()=—-3
2 1 x\’ 2 11 x\ 2
S e R (A P

2
2
=(lnx+x—)
8

1

=1n2+§
8

Question 9
Let u=1-x = du=-dx; x=0 = u=1and x=1= u=0.
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Let z = tané.

Then, z = —~c when 0 = —% and x = ~ when 0 =
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2. (a) Volume of the Gabriel’s Horn is given by
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(b) Surface area of the Gabriel’s Horn:
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Thus, Gabrial’s Horn has an infinite surface area.
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Let y = ™. Then, z = g/y. Therefore,
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uestion 12

$typeset_mode True
h(x)=5*x"2-3*x+4
h

integral(sqgrt(l+derivative(h,x)"2),x,0,3)

plot(h(x),x,0,3)
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